Mean Spectrum Continuum Lightcurve

rm833 med(mad)% c5
T T T T T T T T T T T T T T T T T

Ac(23328) -2.7(1B.4)% S/N 57

fa (1077 erg em™2s7'47")
f) (10717 erg em™2s7'87")

W T

1500 2000 3000
A(R) z =1.61792 MJD — 2450000
RMS Spectrum BLR Lightcurve
rm833 BLR 6310 NLR 900 km/s rm833
w[ " T - T T T
0 et :
—~ raw
|
-:F —cont
Nw - 9 - 4
IE ORMsx
> RMSx it
o I
e 2 mw Mgll
1
(=} m. N
\‘_: ‘ ‘ “ “W‘IIH“MI \||'\HMM\W|\H\‘|“|‘ | ‘ e “l ]
- '*'ﬂ,iiﬂimmu‘..,._ . el b b L Hell
o = |
-l I 1 1 1 I 1 1 1 1 I 1 le I 1 H IHIHI hHIH- " " " 1 " " " " 1 " " " " 1 " " " " 1 " " " " 1
1500 2000 3000 7000 7500 8000 8500 9000
A (B) z =1.61792 MJD — 2450000
x(\t) = ( Data — Model ACsF ) / o Phot Corrections
X/ (410220—5130)=0.917=>1.007 " rm833 med(mad)% Ap 1
; T 1+~ 1 "~ 1 T T T T T T]
Ap 100.00(1.16)% S/N —8.7
3 o Prior(Ap) 5.0 %
o Vb i
E -
E -
3
c
£ © EHE O mwi. W Tae T
E%
[$]
|5 -
@ T
&
g @
© <4
d " " " " " " " 1 " " 1 " " " " " " " " I:
1500 2000 3000 7000 7500 8000 8500 9000
bad:244=0.059% A (R) z =1.61792 MJD — 2450000
u = 0.017(20) x = 0.930(78) u = 0.0152(99) x = 0.925(26)
med(mad) rm833 med(mad) AC,F
| | I r— 1.~ T~ T T 1]
I
| |
b b W il
L ’ , ! -
11 ‘|H L)L A | I‘ It 'I‘H IH |
% N IR RSl L ) IR, L S
x 9 } x
T { g
o Qo |,n‘ L _
3 t 10
S
]
o == == == = 4
n
o
[ " " " 1 " " " " 1 " " " " 1 " " " " 1 " " " " 1
1500 2000 3000 7000 7500 8000 8500 9000

A (R) z =1.61792 MJD — 2450000



